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e Please check that this question paper contains 21 printed pages + 1 Map.

e Please check that this question paper contains 34 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book

before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.
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HTHT=T 7397 :
RETfcifega [R3on @) sTqde 916 iR 37T G HIrT -

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

39 J97-97 H 34 97 & | @U1 Jo7 3974 & |

J97-97 el GUs] 8 fquTfaqd 8- @ue &, &, T, 9059 & |

GuE & - 97 §&] 1 & 21 Fglascd1d JHR & J97 & | J% o7 1 37 1 8 |
GUE & — Fv7 G&IT 22 & 27 TY-IF0T PR & Jo7 8 | e3P 97 3 37 H & |
Jee 9T T I 60 T 80 Feg] F o7&y |

T - J97 G&I7 28 T 30 FH-FHIT (LA) FHR & 97 & | Je3% T97 8 3] &1
& | Je9% F99 HT I 300 T 350 5G] 7 [A1EGT /

GUE T — ¥v7 &7 31 F 33 17 3I9-Jo41 arct Ga-THIRT F97 & | I4F T
4 3H FTE

GUE & - Y97 H&IT 34 TG-S 597 & 15764 Haeaqul g aqail 1 9ea
3R T I & | T8 97 5 37H] H 8 | FAGT Hl IT-JIasT & a1 i T & |
I97-97 § GHY ey 787 1397 77 8 | IEf9, @8 @, T a9 7 § aRF [dHeT FH
J1GG Q37 T & | Tiemet #1547 Fo71 7 & [5d] Th 97 H I i@ & |

$G% ST1A1E, €I § o gicanea el & /g Biel @97 Frafed 371 STemia
Y] @ T R TF 374 7 1597 T 8 | §7 FH] @ I I gicanyd wierH &
7@ |

Wug <h
(TgfereRedta TR o W) 21x1=21
Ty [ o1 e Tey 11§ Hife 3Tk @&t fasheq &1 == Hifv -

& [ &y 11

(FETYRT & 977) (457
1. A () Tefsrn = g
9. e (i) YA H D T
3. (iii) UTeal <hl T
4, HeIRA (iv) G <l AT

oo
(A) 1-(iv), 2-(ii1), 3-(i1), 4-(1) (B) 1-(i1), 2-(1), 3-(iv), 4-(1i1)
(C) 1-(11), 2-(1), 3-(iii), 4-(iv) (D) 1-Gi1), 2-(iv), 3-(iii), 4-(1)
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E — question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Match Column I with Column II and choose the correct option :

Column 1 Column II
(Characters of Mahabharata) (Role)
1.  Duryodhana (1)  Son of Hidimba
2. Gandhari (i) Eldest son of Dhritrashtra
3.  Kunti (iii) Mother of Pandavas
4.  Ghatotkacha (iv) Mother of Duryodhana
Options :
A 1-(iv), 2-(iid), 3-(ii), 4-(1) (B) 1-(Gii), 2-(1), 3-(iv), 4-(iii)
(C) 1-G1), 2-(1), 3-(ii), 4-1v) (D) 1-Gi1), 2-Gv), 3-(iii), 4-(1)
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2. TTfaRaq =1 AT ¥ HHEG i TR T fawhed 1 =74 HIT
I. 3730 o IMEH II. HEUgHAg o IMEA
III.  gYae &l & IV. 9qged o1 &
ﬁw .
(A) L IIL IV, II (B) IILIIL L IV
(©) ILI,IV, I (D) IV, IIL I, 1I

3. WY % GeH H FHfifad ¥ d sH-4 foshey 981 & ?
I. WY Uk §gd RIS HEISHIG o |
II.  TSg |9 hl T ot |
III. Ty 73k & | o |

IV. WY YThideh SHeH 8 TG o |
farepey

A) LI IvVeEd s

B) I, I3 1o &

(C) L I3 IVEd §

(D) II, III 3R IV &) &

4. freafeRad Serrl <hl 9grar 8@ st bl ug=aH <hIfvu

o d8 Ush YfHg SRRar, Haeteh 3 qHHHR o |
e 1815 H 39 YA &I UgAT TR FLA ST =T |

%l_m'_(*q :

(A)  IAdAdael HHAT
(B)  <hifctd Heholl
(C) It ARiA

(D) 3TR.3.UH. SEIeR
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2. Arrange the following in chronological order and choose the correct
option :
L. Rule of Asoka II. Rule of Mahapadma Nanda
III. Rule of Harshavardhana IV. Rule of Samudragupta
Options :
A LILIV, I (B) ILILILIV
(C) I, LIV, III (D) IV, IIL I, 1I

3. Which of the following options are correct regarding Magadha ?
I. Magadha was the most powerful Mahajanapada.
II. Rajgaha was the capital of Magadha.
III. Magadha was in a semi-arid area.
IV. Magadha was rich in natural resources.
Options :
(A) I, II and IV are correct
(B) I, II and III are correct
(C) I, 1III and IV are correct
(D) 1II, III and IV are correct

4, Identify the person with the help of following information :

e He was a famous engineer, surveyor and cartographer.

e He was appointed the first Surveyor General of India
in 1815.

Options :

(A) Alexander Greenlaw
(B)  Colin Mackenzie

(C)  John Marshall

(D)  R.E.M. Wheeler
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5. AR @ %A U MU E, AR (A) 3R HRU (R) | 3 SIMYES 6T AR
et faered o1 ==F hifT
BT (A) : T S A WRAT Y hl S8 Icd1geh TR |

HR (R) : Tt Suss oft foog fora™l <6l O/ § @ BEA! ol 3T B9
o |

ICETS I

(A) AT (A) 3T HRU (R) ST T & 3N H1IOT (R), AHheT (A) Fi
gl ST Ll 2 |

(B) MM (A) 3T SR (R) THT T&l &, Trg SR (R), AR (A) HI
HE! AT FgT Hidl & |

(C) AfTHAT (A) T& 7, T SR (R) Tod 7 |
(D) AHeE (A) Td 8, T SR (R) & 7 |

6. feu ww fomhedi @ & 3Ifa weg @ Tk T i qfd HIfT -

1 TS AT A Toea™ H fea 7 |
A TEEl (B) ud
() Hreflem (D) HTSI

7.  HHEA % Hed # Hfaiad el ol ufey 3 T& faehey o1 =9+ Shifsu ;
I.  Si-EH YR QT T 1 Tgall SPRa-SH{a o |
II. 35 1931 vared! & Hed § qUdiiwisr 3a@=- &1 &Rl TRy T |
III. 394 qUa ! qgfd § dfeh IREIgar 1 aHmEsT 7R |
IV. 364 =M Sig bR g 88 U gardr o1 S foham |
foehed
A) IR IVEd F (B) I3 IITd §
(©) I, I3 & 3 (D) I, 113 IV &g &
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5. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and choose the correct option :
Assertion (A) : Ibn Battuta found Indian agriculture very productive.

Reason (R) : The soils were fertile which allowed the farmers to

produce two crops a year.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is

not the correct explanation of the Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.

6. Fill in the blank with the appropriate word from the given options :

The Harappan site of is located in present day Rajasthan.
(A) Rakhigarhi (B) Lothal
(C) Kalibangan (D) Manda
7. Read the following statements regarding Cunningham and choose the

correct option :

L. Cunningham was the first Director-General of ASI.

I1. He began archaeological excavations in mid 192 century.

III. He brought a military precision to the practice of archaeology.
IV.  He used the accounts left by Chinese Buddhist pilgrims.

Options :
(A) TIand]IV are correct (B) I and II are correct
(C) I, 1II and III are correct (D) 1I,1II and IV are correct
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freafaRad o @ fhg Tl SIehl 1 g il & T3 Hldehall Bl H GRIET 731 7 ?

(A) ST el Stef (B) WU el Sl
(C)  TYR HeAl el (D) Tk AT el

HETfTIEa 597 @acT gleamiaa qaemaal & 077 3.9. 8 & &7 W3
g i reqsti o1 Fehem Tfcriaa o & fopm e o fopam T 2

(A)  FRIEFT T (B) g licw
(C)  Heygd (D) F@Eg
frfciad o € sHH-91 SIiel Hgl gHiad & 2
@y I ey IT
(A1) (¥eI77)
(A) Tergrsrm wle —  qo
(B) FeeR HiT —  faemm
(C) THHd A — S
(D) R TH HiGT —  diueErg

frfafgd § & fpe Bt 4 @ 9 darst =aen 3 9Esnl & fovg fone
fopam o 2

(A) 3@y (B) ST (C) HFTAYX (D) g
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8. Which of the following schools of art is depicted in the given sculpture
image of Buddha ?

(A) Amravati school of art (B) Mathura school of art
(C) Gandhara school of art (D) Gothic school of art

Note : The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 8 :

In which of the following texts were Buddha’s teachings compiled ?

(A) Uttaradhyayana Sutta (B) Sutta Pitaka
(C)  Kalpsutta (D) Rigveda
9. Which one of the following pairs is correctly matched ?
Column I Column II
(Temple) (Location,)
(A) Chidambaram Temple —  Thanjavur
(B) Brihadishvara Temple —  Vijayanagara
(C) Chennakeshava Temple —  Belur
(D) Hazara Rama Temple —  Tamil Nadu

10. In which of the following districts did the ryots revolt against sahukars of
the Ryotwari system ?

(A) Awadh (B) Barrackpore (C) Bhagalpur (D) Poona
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11. fou T foepedi # @ 3@ weg 9 fh Tam i1 gd HiT
Tl | hl 98 oA 598 T o 91g Teh BHA ol AT Wl gt off, i

HET ST AT |
(A)  HIeS (B) il (C) ® (D) ==
12. TR 1 1 T ey 11 9 Fifve 3t 98t faemed <1 ==m hifv
ETET LTFy 11
(771) (for@? 75 fehard)
1. 319w () 2909 57 § §TT U
9.  FoT Sqql (i) [FaE-3a-fa<
3. r-feedl (iti) A&
4. e (iv) STE7-T-37Ha]
ICET
(A  1-(Gv), 2-(iid), 3-(ii), 4-(1) (B) 1-(Gi), 2-(i1), 3-(1), 4-(iv)
(©)  1-G1), 2-(1), 3-(iv), 4-(ii1) (D) 1-G4), 2-(iii), 3-(ii), 4-(iv)
13. T I &1 W 9 11 & $ife ik frafafea & @ a8 fased &1 ===
sifo
Ty [ Ty I
(1857 & faglE & Far ) (qarea &7)
1. PR R @) frem
9. WIE A i) ST
3. Torfom =g (i) S
4. T (iv) @IS
ICETZIE
(A)  1-(G), 2-(31), 3-(ii1), 4-(iv) (B) 1-@ii), 2-(i1), 3-(iv), 4-(1)
(©)  1-G1), 2-(ii), 3-Gv), 4-(1) (D) 1-Gv), 2-(i1), 3-(iii), 4-(1)
14. Tafafea & @ feom 7a79RaT &1 oUT=ATHS GERUT dIR i 1 fFmm
33T ?
(A) Sl = (B) U hrd
(C) t.ud. ghImRt (D) TH Hor It
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11. Fill in the blank with the appropriate word from the given options :

The land which was annually cultivated for each crop in succession was

called in the Mughal Empire.
(A) Polaj (B) Parauti (C) Banjar (D) Chachar

12. Match Column I with Column II and choose the correct option :

Column I Column I1
(Traveller) (Books authored)
1.  Abul Fazl (i)  Travels in the Mughal Empire
2.  Ibn Battuta (ii) Kitab-ul-Hind
3. Al-Biruni (iii) Rihla
4.  Francois Bernier (iv) Ain-i-Akbari
Options :

(A 1-(iv), 2-(ii1), 3-(i1), 4-(1) (B) 1-Gii), 2-11), 3-(1), 4-G0v)
©C)  1-G1), 2-(1), 3-(iv), 4-(iii) (D) 1-(G), 2-(iii), 3-(ii), 4-@{iv)
13. Match Column I with Column II and choose the correct option from the

following :
Column 1 Column I1
(Leaders of the Revolt of 1857) (Related Region)
1. Kunwar Singh (i) Singhbhum
2. Shah Mal (i1)) Arrah
3. Birjis Qadr (iii)) Barout
4.  Gonoo (iv) Lucknow
Options :
A 1-(), 2-(ii), 3-(iii), 4-(iv) (B) 1-Gii), 2-(i1), 3-(iv), 4-(1)
C)  1-G1), 2-(iii), 3-(iv), 4-(1) (D) 1-Giv), 2-(i1), 3-(iii), 4-(1)

14. Who among the following initiated the task of preparing the critical
edition of Mahabharata ?

(A) D.N. Jha (B) Irawati Karve
(C) V.S. Sukthankar (D) Ram Karan Sharma
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15.

16.

17.

18.

19.

20.

frfafea § @ -3 Shrer a8t gafed 8 2

gq FTHT &7
(A) SHEREH —  &Hieh
(B) WIS — ToRYH
(C) STHET — I
(D) eRcE — WY

el il H FEfeifgd 8 § ShH-81 el YRA AR STHMHEAE & s i

SATIR B 1 T 3 IATe <6 e 3R 380 ° ot Snena swear o 2

(A) sl (B) =

(C) 3EM™ (D) <

Fefeifgd o @ ®F IR TS SE o TH g & Gafed o ?

A foftm =g o (B) oTat TmeR foeteh
(C)  TIUTHA T M (D) ATl ASId T

Tiag™ AT | hrg § Aol SR SHH o fore fr=fafgd # & fopg ® == 61
8 2 frafafega 7 9 &) faecy =1 === KIS |

. T h HA & AT ST 991 & T |

II. U9 & W AT SR T i o e |

III.  39cted AT GHTEH! Sl SCH & oY |

Iv. focsht stepmor @ 29 <t &1 i & faw |

ferehey -
(A) I, I3 IV (B) I, I3 III
(C) IIL I 3R IV D) I, I3 IV

13 fegreaR, 1946 1 Gfgum a1 # FfiRed ¥ & formd Seow v’ oW
Tomam 2

(A) Ted¥ TS 9o (B) +fl.3TR. 3THgah

(C) AR I8 (D) TSi< yHTe

“Ga IS weiH, 98 a1 wiet areft T off |7

fafafigd 9§ fopea 31 ulral it foran 3T @&t 915 <l 3= o1 oy
& Tdter o &9 § fafq fear g 2

(A) TN TG (B) HIera Frardt farem

(C) Ehawy T T=1 (D) {YgT P FRH
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15.

16.

17.

18.

19.

20.

Which one of the following pairs is correctly matched ?

Saints Their Region
(A) Kabirdas —  Karnataka
(B) Mirabai —  Rajasthan
(C) Basavanna —  Assam
(D) Shankaradeva —  Uttar Pradesh

Which one of the following tribes was engaged in overland trade between
India and Afghanistan and in the villages and towns in Punjab during
the Mughal era ?

(A) Mundas (B) Koch
(C) Ahoms (D) Lohanis

Who among the following belonged to a Moderate group of Indian
National Congress ?

(A) Bipin Chandra Pal (B) Bal Gangadhar Tilak
(C)  Gopal Krishan Gokhale (D) Lala Lajpat Rai

Which of the following were discussed in the Constituent Assembly for
making a strong government at the Centre ? Choose the correct option
from the following.

I. Planning for the well-being of the country.

I1. To establish strong administration at the state level.

III.  To mobilise available economic resources.

IV.  To defend the country against foreign aggression.

Options :
(A) I IIandIV (B) I, IIand III
(C) I, III and IV (D) I, IIIandIV

Who among the following introduced the ‘Objectives Resolution’ in the
Constituent Assembly on 13th December, 1946 ?

(A) Vallabh Bhai Patel (B) B.R. Ambedkar

(C) Jawaharlal Nehru (D) Rajendra Prasad

“Khoob ladi mardani, woh to Jhansi wali rani thi.”

Who among the following has written these lines and portrayed Laxmi
Bai as a symbol to resist injustice ?

(A) Sarojini Naidu (B) Suryakant Tripathi Nirala
(C) Harivansh Rai Bachchan (D) Subhadra Kumari Chauhan
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21. “YNd Bl ARaE ¥ Hatad FHefdiad el § 9 HiF-E1 98l 787 3§ ?

(A)
(B)
()

TR DTSl AT Tsh S el o |
AN AR 3 38 TG H Wit o |
FANT 31 AR § Taas’ TR hl TATHT L ¢ T8 |

(D) TSETS H UST HSAl i Teh @ €AY I TS |
QU @
(TTg-3T TR ok U9) 6x3=18
22. (%) WU U o &9 § ST i BT T FUH T | 3
Ireran
(@) 9Rd H 1905 § 1907 @ SH TSN ATGIe i Tfdfaies i SAre
I | 3
23. T I b SITETH T GAHHI hid dTct Tohral diF AIdl shl SATEAT T | 3
24, 9RT H TQ-Toret shi AT hT YT foRivareti i e Hi | 3
25. 164 3 174 varfeeai & GRIA STt 31T SATSHIhT hdl HATd 9 ? TqS
HIT | 3
26. (%) YR A T et % IR ATEET h ST FIfT | 3
rora
(@) STHEAN Qe | et <hl YRR i T HINT | 3

27. dod¥ WIS YA o UHT T hal o7 foh 3UW a1 I TN, HTR ITd-S1d INRG bl

s &1 7T ? 3
Qug T
(et IHR & T9 ) 3x8=24
28. (%) dlg WU FEd! @SaL k¥ B T AR Al WU HH o9 T ? TG
HIT | 8
JrerEt
(@) drres fag g o o Sl wE HivT | 8
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21.

22.

23.

24.
25.

26.

27.

28.
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Which of the following statements is not correct regarding ‘Quit India
Movement’ ?

(A)  Quit India Movement was a mass movement.
(B) Thousands of Indians took part in this movement.

(C) ‘Independent’ governments were proclaimed in Satara and
Medinipur.

(D) A series of ‘Praja Mandals’ were established in princely states.

SECTION B

(Short Answer Type Questions) 6x3=18

(a)  Describe the role of Gandhiji as a social reformer.

OR

(b)  Explain the activities of the national movement in India during
1905 to 1907.

Explain any three sources on which the histories of Gupta rulers have
been reconstructed.

Explain the main features of Al-Biruni’s travels in India.

Explain how the forest dwellers earned their livelihood during the 16th
and 170 centuries.

(a)  Explain the early contributions of Mahatma Gandhi in India.

OR
(b)  Explain the role of Gandhiji in the Non-Cooperation Movement.

Why did Vallabh Bhai Patel remark that the British element is gone, but
they have left the mischief behind ?

SECTION C

(Long Answer Type Questions) Ix8=24

(a) Examine how the Buddhist Stupa at Amravati fell to ruins and the
Sanchi Stupa survived.

OR

(b)  Examine the growth of Puranic Hinduism.




29. (%) A U T TGO o HRIEI 3 3k GHUMHET Sl U hid

T ShTTeh! <hl I IV | 4+4=8
AT
(@) “18f wramedl o A H I A & $© &A1 § AR JHTERIE 59 T
d |” 30 Y hl WG HifT | 8
30. (%) TGN 3R TEANW & fo=m 6 =aren hifve | T & a1 38 3T
gay fohg YR TATfUq fopu 2 Tuse i | 4+4=8
AT
(@) |HETE & 35T o SRV hl AT HifWT AR FHAT & TSI & a1
gl o off Tose Hifsu | 4+4=8
Qs Y
(Tra-smaTia T9T) 3x4=12
31. fqu v &a i emgEs qfer R = fou o et & 3w §fm 1+1+2=4
et /STerrorat ot fAmtor fore werm grar o 2

TG T GRI AT 7T TARR < o9 | 49 fo@d 2

TSl A Toh AR SHaMT ... 3 Ugiiedl o g@-fast W a8 gt 4 @ fopeft
UEEl ¥ M dTell O A d8l $hgl &, $9h Al ol 9 HiA (T
15 Teprt) & ot 37fersh <l g8 | wTswi © 371 2 S wredl JEel & e foww %
HIY-HY SHIT T 9 | Ig A Th 3l § AR AT 8 51 Sl o Gg Toh Blet
T H fradt 7 | STaRE 3 39 faene WH sH 8 N W geed 9 = 3R T
g 3 FH 9F | $B gl ¥ I FE § Y A 9 S 991 9 % Wl hl
= & T 9l & @ | 39 ST i 91 o ¢ 36 TS 3 T G gIel
I a1 AT ... TARE | HH 3a4 AN i R Hid <@l b 981 Igg | o9
AR 3TeH! o, <feal i wE ...

(31.1) I T TR 1 FHHIV A1 @ 2 1

(31.2) HUCT TF 7 FARM % FHHIT & [T g TRISHT o TE@-Tda & TAH hl
Fi AT ? 1

(31.3) TR o YT T ITART fohd TehR Toham Smar o1 2 2
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31.

(a) Examine the factors that influenced the implementation of the
Permanent Settlement in Bengal and its consequences. 4+4=8

OR

(b)  “The jotedars became powerful figures in many areas of North

2

Bengal during the end of the 18t century.
statement.

Examine the

(a) Explain the ideas of Alvars and Nayanars. Elucidate how they
established their relations with the states. 4+4=8

OR

(b)  Explain the causes of the growth of Sufism and also explain the
Sufis relations with the state. 4+4=8

SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that

follow : 1+1+2=4

How tanks were built ?
About a tank constructed by Krishnadeva Raya, Paes wrote :

The king made a tank ... at the mouth of two hills so that all the water
which comes from either one side or the other collects there; and, besides
this, water comes to it from more than three leagues (approximately 15
kilometres) by pipes which run along the lower parts of the range
outside. This water is brought from a lake which itself overflows into a
little river. The tank has three large pillars handsomely carved with
figures; these connect above with certain pipes by which they get water
when they have to irrigate their gardens and rice-fields. In order to
make this tank the said king broke down a hill ... In the tank I saw so
many people at work that there must have been fifteen or twenty
thousand men, looking like ants ...

(31.1) Why did Krishnadeva Raya construct a tank ?

(31.2) Why did Krishnadeva Raya choose the location at the mouth of
two hills for building the tank ?

(31.3) In what ways was the water from the tanks used ?
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32. feu u Eq @ eamyds ufge it Fiw fou o gwt &% 3w @ 1+1+2=4

ToTH AR 3 R R 2
freafefigd o721 d¥ehd o Th AfHeiE 9 3gd @ ¢

$S AN ol TG & AT Y0 g AT DAl bl T a1 3; 37 &l T § dhal
39 ShafEl (3 @lRar 8F) 1, 30 @@ 9 3% sael ¥ gifud 8 | (F9)
forfia e @ 3w difHes ATl H docie o... $S AN 39 iiHeh STSHI |
I3 B; 3 g AU W R e 9t (Afesw) wme e O 9 # |

(32.1) Trac@ # gfta o gfd I9 Sy =<6 fohan T 2 1
(32.2) =RHA 3 Al @Miat foe | o7t fAquran e yef & 2 1
(32.3) Teraerg # 3fgfaa fafie gfawett 3 oo & oy @9 4 50 9or
RRIERECI 2
33. fou u wa @ eamyds ufge it Fiwr fou o get &% 3w @ 1+1+2=4
TS TTES AT b &

Th IR M H UH 3Eeh okl gasnm W T foRan S Ter 7 o ASe St
AT 3R foreM, T T ® 9 |

3T F1 3™ Udl-freetrar o1 |

g SIH-U-3TTeTH <8 ¥ foer ool 7ed It 7T 2 |

(33.1) 9979 ! 8 I deohTcd THIT T IST 2 1
(33.2) ET % TMEl ¥ §eA 3 AW W WTATHS IUA-YIA F1 T ? 1
(33.3) ITTY o1 AU IS bl Nulafyres wHifa # forg TR w8 @1 2

Tse HifSu | 2
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32.

33.

Read the given source carefully and answer the questions that
follow : 1+1+2=4

What the silk weavers did
Here is an excerpt from the inscription, which is in Sanskrit :

Some are intensely attached to music (so) pleasing to the ear; others,
being proud of (the authorship of) a hundred excellent biographies, are
conversant with wonderful tales; (others), filled with humility, are
absorbed in excellent religious discourses; ... some excel in their own
religious rites; likewise by others, who were self-possessed, the science of
(Vedic) astronomy was mastered.

(32.1) How was love for music expressed in the inscription ? 1

(32.2) How did individuals demonstrate their mastery in the science of
Vedic astronomy ? 1

(32.3) In what ways did the various talents mentioned in the inscription
contribute to the overall fabric of society ? 2

Read the given source carefully and answer the questions that
follow : 1+1+2=4

The Nawab has left

Another song mourned the plight of the ruler who had to leave his
motherland :

Noble and peasant all wept together
and all the world wept and wailed

Alas! The chief has bidden adieu to

his country and gone abroad.
(33.1) What was the immediate impact of the removal of the Nawab ? 1

(33.2) Why was there emotional upheaval at the dethroning and
departure of the Nawab ? 1

(33.3) How did the annexation of Awadh fit into the British colonial
strategy ? Explain. 2
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34. (34.1) WNRA % QU T o W@I-AFARE (56 23 W) ¥, FefaRad =i
Ik Toml @ <Afeha hifore ofit 3k 19 frfu 3x1=3

(i) OAE - g U
(i) T T - 3Tk & RIATE 1 Teh T

(i) () foommr
HAAT
(iii) (@) SR

(34.2) WRA % TET ToHI{deh G- qHRT W e TAH Bl A 3 B & &9 |

fafed form w1 8 S 1857 % A fofew & arefiey 9 | 38 wg=iT
3R I7eh FHene i=f 72 T@reti w ud am fafan | 2

Fie: T 397 Fac7 gheanfaa qhemaal & 7 3. 4. 34 & &7 W3

(34.1) Torefl T ESUUT AW I 9 TARIT | 1

(34.2) foreht T dig TIA I Seai@ HIT | 1

(34.3) (%) oo aw=" 6 TogHT 1 A" faRaT | 1
arere

(34.3) (@) TooR gy < foreft T gei U= @1 W fafEu | 1

(34.4) 1857 @ e fafewr refiwey forsl a1 weU &1 3g@ v | 2
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SECTION E
(Map-Based Question) 5

34. (34.1) On the given political outline map of India (on page 23), locate and
label the following with appropriate symbols : 3x1=3

(i) Dholavira — a Harappan site
(i1)  Meerut Pillar — a site of Asokan inscription
(iii) (a) Vijayanagara
OR
(iii)) (b) Bijapur

(34.2) On the same political outline map of India, two places related to
British control in 1857 are marked as A and B. Identify them and

write their correct names on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 34 :

(34.1) Name any one Harappan site. 1

(34.2) Mention any one Buddhist site. 1

(34.3) (a) Name the capital city of Vijayanagara Empire. 1
OR

(34.3) (b) Mention any one neighbouring state of the Vijayanagara
Empire. 1

(34.4) Mention any two cities which were under the British control
during 1857. 2
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